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QUESTION 1. List and discuss the syntactic similarities and/or differences between the underlined
segments in the following two sentences (25%).

(2) Readers who prefer a more complete introduction to the language should consult The Racket

Guide.

(b) RERMEHR KR —1%.

QUESTION 2. Tables 1 and 2 summarizeddnguage use amongyomen and men in the village of
Oberwart, a bilingual town in Austria that before 1921 used to belong to Hungary (25%). (Data from

Gal 1978.)
TABLE 1. Langtnge choice'paitern of women

infor- Age Social situations (identity ofyparticipant)
mant TR 3 4 5 6 7 8 9 10 11
A 14 H GH G G G G G
B 15 H GH G G G G G
C 2§ H GH | GH GH .G G G (& G G
D 27 'H H GH | G G G G
E 1 7y HEEE H GH |G G G
F 39 JHUH H GH GH G G
G 23/ H H H GH H GH G G
H 3ol H H H GH GH /G G G
1 52 H H H GH H GH G G G G
J golH H H H H H GH GH CGH G
K 35 "THT H H H H H H GH H G
L 61 H"H H H H H GH H G
M so HFy H H H H H H H H G
N 6c H "H H H H H H H H GH G
6] s4 H H H H H H H H S H H
P 63 H H H H H H H H H GH R
Q 64 H H H H H H H H H H H
R 5 H H H H H H H H H H H
No. of informants = 18 Scalability = 95.4%%
1 = to god 7 = spouse
z = grandparents and their generation 8 = children and their generation
3 = bilingual clients in black market ¢ = bilingual government officials
4 = parents and their generation 1o = grandchildren and their generation
s = friends and age-mate neighbors 11 = doctors
6 = brothers and sisters

G ~ German, H — Hungarian, GH -~ both German and Hungarian,
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TABLE 2. Language choice pattern of men
Infor- Age Social gituation (identity of participant)
mant 1 2 3 4 5 6 7 8 9 10 i
A 17 H GH G G G G G
B 2s H H GH G G G G
C 42 H GH G G G G G G
D 20 H H H H GH G G G G G
E 22z H H H GH GH G G
F 6z H H H H H H GH GH GH G G
G 63 H H H H H H GH G
H 64 H H H H H H H GH GH G
I 43 H H H H H H G H G
J 41 H H H H H H H GH H H
K s¢ H H H H H H H H G
L 6t H H H H H H H G GH G
M 74 H H H H H H H H GH H
N s8 G H H H H H H H H H
No. of informants = 14 Scalability = 95.25,
1 = to god 7 = spouse
2 = grandparents and their generation 8 = children and their generation
3 = bilingual clients in black market 9 = bilingual government officisls
4 = parents and their generation 10 = grandchildren and their generation
& = friends and age-mate neighbors 11.= doctors
6 = brothers and sisters
G -~ German, H — Hungarian, GH'= both German and Hungarian.
Questions:

(a) Which conclusions canyou draw from Tablesi2-Explain and motivate your answer.

(b) There is a subtle but important difference betwcen the linguistic behavior of women (Table 1) and
men (Table 2). Which one? AnSwer in one sentence!

{(c) Hypothesize why this difference might exist.

QUESTION 3. Each of the following groups of consonants have some phonetic properties in common.
Please choose the most precise and complete description of the shared properties for each group of
consonants (20%).

a.[f,s, s, ¢ x]

(i) fricative (ii) stop (iii) coronal fricative (iv) affricate
b. [ts; ts"; 15, 15", 16, "]

(i) fricative (ii) stop (iii) affricate (iv) dental affricate
c. [p. B, ¢, 0]

(i) voiced obstruent (ii) obstruent (iii) sonorant (iv) continuant
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d. [m,n,n,n,j, W]

(i) voiced obstruent (ii) nasal (iii) voiceless sonorant (iv) continuant
e. [t,t",d,s, z §]

(i) voiced obstruent (ii) coronal (iii) sonorant (iv) continuant
f.[i,1,y,u,i]

(i) obstruent (ii) tense vowel (iii) vowel (iv) consonant
g [y,u e 0,0a]

(i) obstruent (ii) voiced obstruent (iii) lax vowel (iv) tense vowel
h. [j, w, 4l

(i) obstruent (ii) glide (iii) coronal (iv) vowel
i. [p,b, v, 1,17

(i) anterior obstrient (ii) spread obstruent (iii) sonorant (iv) continuant
1. [8, &, '8, 6, 9]

(i) low vowel (ii) obstruent (iii) mid vowe! (iv) back vowel

QUESTION 4. John, aged 4, living,with his parents in Taipei, was observed to produce very unique
phonological patterns in Mandarin Chinesc Geviating'in certain aspects from the adult norm. Speech
therapists diagnose him as having a speech impairment/disorder.

disordered speech adult speech 3
1. k'an3s t'an35s ¥
2. k"as5 t'as5 itk
3. t¢is1teis1 *[ki51 ki51] ti51 tiS1 %
4, k"aj35 ton55  *[1"aj35 ken55] t"aj35 tonss 3G
5 kan51 kaw55 tan51kaw5s5 g
6. tcjen51 ton55  *[ kjenS1 kepS5] tjen51 ten55 B
7. ka21 tsan55 ta21 tsan55 T4t
8. te"jenss kPons5 *[k"jens5 k"ons5]  t'jenS5 k"onss K=

9. xaw2l tghip  *[ xaw21 k"in55] xaw21 t"ins5 b I
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10. tan21 ¢jas1 *[ kan21 gjaS1] ton21 ¢jaS1 FTF
Questions:

1. What rules distinguish the child's phonology from the phonology of the adult norn1(20%)?

2. Do the rules need to be operateg
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